[x] NAME DATE

Tl ADDITION OR SUBTRACTION
Solve the answers for the given questions.
1) 66 tens — 30 tens=____ tens.
60 tens — 30 tens= ____ tens.
30 tens + 6 tens = tens
2) 66 tens — 36 tens=____ tens.
60 tens — _ tens = 30 tens.
30 tens + 6 tens — 6 tens = tens
3) 66 tens — 38 tens = tens
60 tens — _ tens = 30 tens.

30 tens+ __ tens — 8 tens.
30 tens — 8 tens + ___ tens.
20 tens + 10 tens — 8 tens + ___ tens.

20 tens+ __ tens+ __ tens.

20 tens+ __ tens=___ tens.
4) 67 tens — 39 tens=____ tens.
____tens— ___ tens = 30 tens.
30 tens+ __ tens — ___ tens.
30 tens — ___tens+ ___ tens.
20 tens+ 10 tens — ___tens+ ___ tens.

20 tens+ __ tens + 7 tens.

20 tens+ __ tens = tens.
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